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OnpepeneHue

¢ynkuueit
Hazvleaemcsa PyHKuu,

3a0annan popmynou
y=kx+m,
20e — 3a0aHHble YUcaa,
- apzymenm,
— 3HAYeHue (Pynkuyuu.
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3agaHune Ne 1

y=2X+9

X|-2 (426 |36

y | -1 4] -9 1102




3agaHune Ne 1

y=—0,5x+3,5

M(5;7) K(7:0) L(2:3) N(0O;3,9)
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[locTpoeHune rpaduka
NTIMHENHOU DYHKLINW
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B3anmMHOE pacnonoXXeHue
rpadoUKOB NTIMHENHbIX
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3aodaHue Ne 3

-
y(1)=-2-1+3=1 - HauBonbwee

y(4) =-2.44+3=-5 - HaMMeHblLUee



3aodaHue Ne 3

y = SN Ha[— 1;3]

y(_ 1): 5. (_ 1)_3 — & - HaMMeHblUee

y(3)=5-3-3=12 - HauBonbluee
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